
 6 1
4 " 

 72 1
2 " 

 25" 
 6 1

4 " 

 23 1
2 "  1

0
3 4

" 

 6
7 8

" 
 1 1

4 " 
 1 1

4 " 

 10" 

 19" 

13
1 2

"
SH

.

 22 1
2 " 

 2
0

3 8
" 

 38 1
2 " 

B

A

B

C

D

E

PARENTUNIT: W50511

REV. DESCRIPTION DATE APPROVED

E CHANGED THE STRUCTURE OF THE ARMS 8/9/2021 SCD

D INCREASED THE WIDTH OF THE KICKBOARDS BY 1/2" 7/23/2021 SCD

C UPDATED MATERIAL TYPE FROM 7/16" PLY 1/2" OSB 5/7/2021 JSA

B UPDATED THE RECLINER CRADLE. CHANGED THE BOTTOM PANEL IN THE ARMS 11/13/2020 SCD

A TREDUCED THICKNESS OF CONSOLE LID BY 1/4". WIDENED KB BY 1/2". ADDED WELD 
NUTS TO RAILS. OPENENED UP BOTTOM OF THE ARM. 10/12/2020 SCD

WILLIAMSBURG FURNITURE INC.
2096 CHEYENNE ST.

NAPPANEE, IN 46550
(574) 773-7711

ALL DIMENSIONS ARE IN INCHES
 UNLESS OTHERWISE STATED

DO NOT SCALE
SCALE: SHEET:DATE:

DRAWN BY: REV

DRW NO.

W50558

ES.DUESLER

8/17/2020 1 OF 4

NEWMAR



4

5

1

12

5

3

BOM

ITEM NO. PART/FILE NAME QTY. NOTES:

1 W50558 SEAT AND 
BACK 2

2 W50558 RSA 1

3 W50558 RSA 1

4 W50558 CONSOLE 1

5 2020 RECLINER 
CRADLE 2

WILLIAMSBURG FURNITURE INC.
2096 CHEYENNE ST.

NAPPANEE, IN 46550
(574) 773-7711

ALL DIMENSIONS ARE IN INCHES
 UNLESS OTHERWISE STATED

DO NOT SCALE
SCALE: SHEET:DATE:

DRAWN BY: REV

DRW NO.

W50558

ES.DUESLER

2 OF 4



CUT LIST

ITEM NO. PART/FILE NAME MATERIAL QTY. Thickness WIDTH LENGTH NOTES:

1 Part4^W50558 
CONSOLE OSB 1 1/4" 8 3/4" 16"

2 Part1^W50558 
BACK OSB 2 1/2" 1" 19"

13 W50558 CONSOLE 
OSB1 OSB 1 1/2" 10" 15 5/8"

14 W50558CONSOLE 
PLY1 PLYWOOD 1 3/4" 10" 15 5/8"

15
Copy of 2x17 CALF 

BOARD^W50558 
SEAT AND BACK

PLYWOOD 2 3/4" 2" 17"

18 3X5.25 POPLAR 4 7/8" 3" 5 1/4"

19 W50558 CONSOLE 
BACK P1 POPLAR 2 7/8" 2" 12"

20 2X10.5 POPLAR 3 7/8" 2" 9"

21 W50558 SEAT PART 
1 POPLAR 2 7/8" 1 1/2" 22 1/2"

22 1.5X10.5 POPLAR 19 7/8" 1 1/2" 9"

23 1.5X5.25 POPLAR 34 7/8" 1 1/2" 5 1/4"

WILLIAMSBURG FURNITURE INC.
2096 CHEYENNE ST.

NAPPANEE, IN 46550
(574) 773-7711

ALL DIMENSIONS ARE IN INCHES
 UNLESS OTHERWISE STATED

DO NOT SCALE
SCALE: SHEET:DATE:

DRAWN BY: REV

DRW NO.

W50558

ES.DUESLER

3 OF 4



 1
1 4

" 
 3

1 2
" 

 6
" 

 3" 
 17 1

2 "  3" 

 23 1
2 " 

 1
0

3 4
" 

T NUT EITHER SIDE UP

4X 1/4-20 T NUTS

4X 1/4-20 T NUTS

4X 1/4-20 T NUTS

4X 1/4-20 T NUTS

TNUT THIS SIDE UP
RIGHT SIDE OF UNIT

4X 1/4-20 T NUTS

TNUT THIS SIDE UP
LEFT SIDE OF UNIT

4X 1/4-20 TNUTS

4X 1/4-20 TNUTS

T-NUT LOCATIONS

T NUT IN PAIRS, OPPOSITE SIDES

OPPOSITE SIDE 
OF SAME PANEL

OPPOSITE SIDE 
OF SAME PANEL

WILLIAMSBURG FURNITURE INC.
2096 CHEYENNE ST.

NAPPANEE, IN 46550
(574) 773-7711

ALL DIMENSIONS ARE IN INCHES
 UNLESS OTHERWISE STATED

DO NOT SCALE
SCALE: SHEET:DATE:

DRAWN BY: REV

DRW NO.

W50558

ES.DUESLER

4 OF 4


	Sheet1
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View14

	Sheet2
	Drawing View15

	Sheet3
	Drawing View17

	Sheet4
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View27
	Drawing View28


